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General Instructions :

(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two Sections : Section A
and Section B.

(iii)) Section A has Objective type questions whereas Section B contains

Subjective type questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct

order.

(vi) Section A : Objective Type Questions (30 marks) :

(a)
(®)
(c)
d)

This section has 6 questions.
There is no negative marking.
Do as per the instructions given.

Marks allotted are mentioned against each question/part.

(vii) Section B : Subjective Type Questions (30 marks) :

(a)
(®)
(c)
(d)

This section has 18 questions.

A candidate has to do 11 questions.

Do as per the instructions given.

Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)

1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

(1)

(i1)

I 325-1

What is important in communication as it helps in knowing whether

the receiver has understood the message or not ?

(A) Feedback (B) Channel

(C) Receiver (D) Coding

It is a cluster of thoughts, feelings and behaviour that make a

person unique and different from others.
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(iii) Which one of the following is mot a way to maintain positive
attitude ?

(A) Say positive affirmations
(B) Be proactive
(C) Not to learn from failures

(D) Focus on constructive things

iv) A is an arrangement of cells in a vertical manner in a
spreadsheet.
(A)  row (B) grid
(C) cell (D)  column

(v)  Individuals who focus on developing solutions that benefit the
society are called entrepreneurs.
(A) family business (B)  social
(C) non-technical (D) IT

(vi)  Which campaign in India is designed to facilitate investment, ensure
faster innovation and enhance skill development ?

(A) Make in India (B) Made in India
(C) Start up India (D)  Grow India
2. Answer any 5 out of the given 7 questions. 5x1=5

(1) The most profitable stores allocate high-traffic areas to seasonal
merchandise, regularly changing the display with the

(A) seasons (B) position
(C) time (D)  colour
(i1)  Sample sales-floor plan presents a format called a layout.
(A) clear (B) drag
(C) hoop (D) loop
(iii)) The ultimate goal of retailing is to bring together and
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(iv)  Your store should be and a comfortable place to shop.
(A) inviting (B) open
(C) disorganised (D)  colourful

(v)  Point of storage relates to :
(A) factory (B) farm

(C) retail store (D) warehouses
(vi)  What is the full form of BEV ?

(vii) Food and Beverage supervisors oversee the day-to-day operations of

facilities.
(A) trading (B) ticketing
(C) dining (D) shopping
3. Answer any 6 out of the given 7 questions. 6x1=6

(1) It is a part of cryptography that involves transforming texts or
message into a code which is unreadable.

(A) Encryption (B) Protection
(C) Petition (D) Description

(11) G2C stands for :
(A) Government to customer (B) Government to consumer

(C) Government to commerce (D) Government to citizen

(i1i)) The product is shipped to a customer’s address.
(A) Temporary (B) Permanent
(C) Designated (D) Nearby

(iv)  Give the full form of ‘SSL’ in security concerns.
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(v)  Which of the following is not a ‘C’ of E-marketing ?
(A) Contract (B) Content
(C) Community (D) Clear

(vi)  Getting a good return from telemarketing investment will require

(A) Planning (B) Brand loyalty
(C) Logistics supplies (D) Call centre technologies

(vii) It is called the brain of PoS.

(A) Front office server (B) Back office server
(C) Barcode scanner (D) Monitors
4. Answer any 5 out of the given 6 questions. 5x1=5
1) The first commercial barcode scanning operation took place in
(A) 1978 B) 1974
(C) 1979 (D) 1970
(11) The is the screen where sales staff view sales information.
(A) Monitor (B) Keyboard
(C) Cash drawer (D) Printer

(iii) Define ‘Eye-tracking’.

(iv)  Which is not the part of types of PoS displays ?
(A) Kiosks (B)  Coupons
(C) Banners (D) Bills

(v)  Which type of layout is used by the most modern keyboards ?

(vi) payment feature allows processing of unsettled bills.
(A) Order bill (B) Hold bill
(C) Due bill (D) Track bill
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5. Answer any 5 out of the given 6 questions. 5x1=5

(1) EAN stands for :
(A) European Article Number
(B) Export Article Number
(C) Evaluated Article Number
(D) Essential Article Number

(ii))  The formula used by supplier with discounts, taxes, freight, etc. is :
(A) Supply formula (B) Purchase formula
(C) Market formula (D) Sales formula

(iii)  Billing accuracy is the most important factor for

(A) Customer satisfaction (B) Reseller satisfaction

(C) Purchase satisfaction (D) Retailer satisfaction

(iv) This system is the combination of cash system and mercantile
system of accounting.

(A) Cash system (B) Mercantile system
(C) Floating system (D) Fixed system

(v)  The accounting period starting from 15t April and ending 315t March

is termed as year.
(A) leap (B) normal
(C) financial (D) calendar

(vi) The ledger which contains all the real and nominal accounts is
called :

(A) General ledger
(B) Debtors ledger
(C) Creditors ledger
(D) Complex ledger
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6. Answer any 5 out of the given 6 questions. 5x1=5
1) List of goods and materials available in stock by a business is
called
(A) Inventory (B)  Opening stock
(C) Closing stock (D)  Average stock
(i1))  Running out of the inventory of an SKU means :
(A) Stock out (B)  Stock in
(C) Lay-out (D) Lay-in
(iii) Portable scanners are most efficient, when the entire inventory is
(A) less (B) more
(C) bulk (D) Barcoded
(iv) Food inventory on a steady rotation helps to reduce :
(A) Over preparation of food (B) Wastage
(C) Shortage (D)  Over storage
(v) A well-planned and organised physical count is the basis of
determining and analyzing
(A) loss (B) profit
(C) discount (D) shrinkage
(vi)  SKU stands for
SECTION B
(Subjective Type Questions) (30 Marks)
Answer any 3 out of the given 5 questions on Employability Skills. Answer each
question in 20 — 30 words. 3x2=6

7. Name the four key skills used in communication.
8. Write the importance of managing stress.

9. What is a Presentation software ?

10. List any four characteristics of entrepreneurship.

11. Who is a green collar worker ?
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Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. Write any four elements of effective visual merchandising.

13. What do you understand by Point-of-Purchase ?

14. Explain the use of Barcode scanner in Point of Sale system.

15. Who are called Q-Managers ?

16. What do you understand by food inventory control ?

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. “Technology affects traditional ways of marketing”. Justify the statement
by giving any six points of difference between Traditional marketing and
E-marketing.

18. State any six features of an E-shop.

19. Explain the role of Back-office-server in Point of Sale system.

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. “Sales managers have to demonstrate some traits common to most
effective managers”. What according to you are the essential duties of a
sales supervisor ?

21. What are the key requirements that must be met by modern PoS systems ?
22. Explain any four types of Deposit Accounts.

23. “The role of accounting has changed from that of a mere recording of
transactions in the books of accounts to the present stage of analyzing,
presentation and reporting.” In view of the given statement, state any
eight advantages of accounting.

24. Explain the concept of LIFO and FIFO in inventory management.
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